Grade 8
2015 STAAR Test Questions

[image: image1.png]30 A basketball with a mass of 0.60 kg is accelerated with a force of 10.8 N. If resisting forces.
are ignored, what is the acceleration of the basketball to the nearest m/s??

Record your answer and fillin the bubbles on your answer document. Be sure to use the
correct place value.




1. What is involved in answering the question? (content/skills)
2. What barriers may exist for students answering the question?
3. What does the data tell you?
4. What are the implications for instruction?

[image: image2.png]32 Onuly 4, 1776, the American colonies declared their independence. The table shows the
lunar phases for June 1776.
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What lunar phase occurred on July 4, 17767

Waning gibbous
Waxing gibbous

Waning crescent

Waxing crescent




1. What is involved in answering the question? (content/skills)
2. What barriers may exist for students answering the question?
3. What does the data tell you?
4. What are the implications for instruction?

[image: image3.png]38 A student stands at the point marked X on the topographic map below.

Topographic Map

Contour interval: 10 m

What height in meters must the student climb in order to reach the top of the hill2

Record your answer and fillin the bubbles on your answer document. Be sure to use the
correct place value.




1. What is involved in answering the question? (content/skills)
2. What barriers may exist for students answering the question?
3. What does the data tell you?
4. What are the implications for instruction?

[image: image4.png]42 Barnacles are marine organisms that live attached to surfaces as aduls. A scientist studies
two barnacle species that live on rocks on a coast in Scotland. In some rocky areas Species A
s found alone. In other rocky areas Species B is found alone. In stll other rocky areas both
Species are found together. The diagram below shows the two barnade species on rocks in
their habitats.
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1. What is involved in answering the question? (content/skills)
2. What barriers may exist for students answering the question?
3. What does the data tell you?
4. What are the implications for instruction?

[image: image5.png]44 Some students are studying the relationships between organisms in a food web.
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How many predators shown in this food web are omnivores?

Clover Blackberries

Record your answer and fillin the bubbles on your answer document. Be sure to use the
correct place value.




1. What is involved in answering the question? (content/skills)
2. What barriers may exist for students answering the question?
3. What does the data tell you?
4. What are the implications for instruction?

[image: image6.png]27 Which of these formulas contain equal numbers of nitrogen atoms?
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1. What is involved in answering the question? (content/skills)
2. What barriers may exist for students answering the question?
3. What does the data tell you?
4. What are the implications for instruction?

